[.C.Brindle & Co Ltd - Technical Data V01-0319

LIFEBUOY EQUIPMENT

SKU - 40020028

RAIL CLAMPS

INSTALLATION INSTRUCTIONS

Top rail

1.Using an 8mm bit (not supplied) drill through the two recesses (D & D), if not already drilled. Then,
using two of the 25mm bolts and the 30mm washers, fix one half of a bracket (F) at each hole

3.The housing will now hang on the chosen top rail enabling accurate positioning of the lower halves of
the brackets. Using the 8mm bit drill the housing to accept the lower part of the brackets

4.Use two 25mm bolts and 30mm washers to fix the bottom section of the brackets to the housing

5.Use 2 x 40mm bolts, 2 x 15mm washers and 2 x Nylock nuts to secure together each of the two
bracket halves (G).

Lower rail

6. To secure the bottom bracket, rest the top half over a lower rail and mark the hole position on the
housing. Then drill through using the 8mm bit.

7. Position and fit the lower half of the bottom bracket using the short and long bolts as described
above.

Contents:
1.M8 x 40mm Bolt x 6
2.Rail Mounting Bracket x 6
3.M8 x Nylock Nut x 12
4.M8 x 30mm Washer x 6
5.M8 x 15mm Washer  x 12

6.M8 x 25mm Bolt X 6

TS . . . . .
ER) www. : - @ : : f(j)
) www.icbrindle.com 44 (0) 1202 657814 @ info@icbrindle.com Follow us on m O) B



